Honors Calculus 1 Test 3 — Fall 2010

NAME HET STUDENT NUMBER

SHOW ALL WORK!!! Partial credit will only be given for answers which are partially correct!
Be clear and convince me that you understand what is going on. Use equal signs when things are
equal (and don't use them when things are not equal). Be sure to include all necessary symbols
(such as limits and “element of” signs). I applicable, put your answer in the box provided. FEach

numbered problem is worth 12 points. Put your calculators away!!! This is a math test!!!

1, 2. A girl flies a kite at a height of 300 ft, the wind carrying the kite horizontally away from her
r); ] 199) at arate of 25 ft/sec. How fast must she let out the string when the kite is 500 ft away from

her?
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3, 4. Consider f{z) = z**(z — 5). Find the critical points, points of inflection, local MAXes and
E 262 local MINs, intervals on which f in INC/DEC, intervals on which f is CU/CD, and graph
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5. (a) Evaluate lim s
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6, 7. You are designing a rectangular poster to contain 50 in? of printing with a 4-in. margin at

the a,mour-ljt;,t of paper used?

[ _];2—27 the top and bottom and a 2-in. margin at each side. What overall dimensions will minimize
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8. (a) Explain the difference between an antiderivative of f and the indefinite integral of f.
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{ V23 577 (b) Solve the initial value problem: d—"t" — 8t +csct, and v g - 7.
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BONUS 1. Find the absolute maximum and minimum values of f(z) = v/4 — 22 on the interval
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_BONUS 2. (a) State the Mean Value Theorem.
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74 234 { (b) Verify the hypotheses and conclusion of the Mean Value Theorem for f(z) = z*3 on [0, 1],
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